FZLHE, 0|2 SUER

=5 MY/MIE o0l x|
4y
THE:
£ 2lotO|=(PAS).
= s,
£ N AE|QIZ|A AE]1.4301.
Er3c i [=EIR
ZplAEl B2 5|A1 RAL 7035.
g8 LA 2.
AHIQIE|A AR RHE 2.
HH:
O|E{%¥ 214 LIAANO| IE €2 L{E DIN EN 60423. 70| 2 THE=9}
BEEEZEES or™sHH ™57 IE
25 Hel:
-40 °C ~ +100 °C (EZIAE).
-60 °C ~ +200 °C (MIZ).
=N
Q J=
ESY
FZE, FH0|E 2T=E
FEHS 2 "E D H SW1 max. Sz.<_v\</>.=1| E3
Nm
K2250.012150 EZotO= M12X1,5 5 17 1,5
K2250.016150 Ezlol0|= M16x1,5 5 22 2,5
K2250.020150 EglotOl= M20X1,5 6 27 3,5
K2250.025150 EZotO= M25x1,5 6 32 5
K2250.032150 ZZotO|l= M32x1,5 7 41 5
K2250.040150 EgjotOl= M40X1,5 7 50 7.5

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
FLE, H0|E 2RES
E= %
=oWHS ERRIE D H SW1 max. 2 E3

SW1

Nm
K2250.11215 B M12X1,5 2,8 15 35
K2250.11615 s M16x1,5 2,8 19 35
K2250.12015 g5 M20X1,5 3 24 35
K2250.12515 g3= M25x1,5 3,5 30 6,7
K2250.13215 s M32x1,5 4 36 12
K2250.14015 g5 M40X1,5 5 46 13,5
K2250.21215 AE|QlEA AE] M12X1,5 2,8 14 35
K2250.21615 2E|QlE A AE] M16x1,5 2,8 19 35
K2250.22015 AE|QIEA AE M20X1,5 3 24 35
K2250.22515 AE|QIEA AE] M25x1,5 3,5 30 6,7
K2250.23215 AH[QIHA AE M32x1,5 4 36 12
K2250.24015 AE|QIEA AE M40X1,5 5 46 13,5

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com

- info@kipp.com

2/2



